camssmmwesy MIODEL SOLVED PAPER

UNITED BANK OF INDIA PO EXAM

B HELD ON: 14.11.2010 B BASED ON MEMORY

REASONING |

1. How many such pairs of letters
are there in the word AEROBICS,
each of which has as many let-
lers beltween them in the word
fin both forward and backward
directions) as they have between
them in the English alphabetical

series 7
(1] None (2] One
{(3) Twa {4) Three

3] More than three

2. Which of the following groups of
numbers should replace the
blank spaces so thal the group
of numbers, given in bold, follow

a loglcal paitern from the preced-
ing and the lollowing group of

numbers ?

851 87 _ .53 2 _4
{19, 2 3.4 (2)2,9 4,3
(3)9.2.4 3 (4 3.9 2 4
(5)4.9.2 3

3. Which of the following would fall
in the same category of disasters
as Earthguakes, Cyclones and
Volcanic Eruptions 7
(1) Global warming
(2] Floods {3) Ol apill
{4l Accidents
(3} Nuclear explosions

4. What will come in place of ques-
tion (¥} mark in the fallowing se-

ries 7
XWA VTC SPF OKJ 7
(1) JDN (2) JEO

{3) LPN (4] JDP

(5] 1 EO

B. Ifit is possible to make only one
meaningiul word with the first,
third, fourth and the seventh let-
ters of the word "EXHAUSTION',
which would be the third letter
of the word from the right ? If
maore than one such word can be
formed, give 'F’ as the answer. If
no such word can be formed,
Eive Q" as your answer,

(n P (2) A
(3) H @7
5)Q .

B. Which of the following ligures
represents the relalion belween
"Buildings’. "Men’ and Tall"?

(n @
aQ O

iﬁ!"::—?f_" ;

Directions (7-9) : Study Lhe fol-
lowing information carefully and answer
the ghven questions :

In a seven storey building, hav-
ing floors numbered one to seven, P,
Q, RS, Tand V each live on a differ-
ent floor. [The ground floor is numbered
floor no. 1, the floor above il floor no. 2
and so0 on.] One of the floors in the
bullding is vacant. P lives on the fifth
floor, No Noor below fifth foor is va-
cant: also no odd numbered Roor Is
vacant. Only S lives between T and V.
T does not Hve on an odd numbered
floar. T does not live on a floor immedi-
alely above or immediately helow R's
floor. Q does not live on the bottom-
most Door.

7. Who lives on the topmost floor 7

(1) @ (215

(3} R v

(5} No one as it is vacant.

B. On which of the following floors

does R live 7
(1) Seventh (2] Sixth
i3] Third (4] Second
(5] First
8. Which of the following floors (s
vacant ?
{1) Seventh 12} Sixth

(3} Third
15) Fourth
Il'in & certain code "good speech
by linance minister is wrilten as
‘by Dilnance 4 good 3 minister 2
speech 1. How will 'excited aboul
holiday in Europe be written in
that code 2
(1} about | excited 2 Europe 3
holiday 4 in &
(2} in 5 holiday 4 Europe 3 excil
ed 2 about 1
{3} about 5 Europe 4 excited 3
holiday 2 in |
[4) Europe 5 eéxciled 4 aboul 3
in 2 holiday 1
[3) Europe 1 exeited 2 about 3
in 4 holiday 5
Directions (11-13] : The follow.
ing questions are based upon the al-
phabetical series given below:
ACEFHIKLMOPRSTVWYZ
11. What will come in place of ques-
tion {7 mark in the following se-

14 Secomid

10.

ries 7
AIKLMOPRZ CELMOPY ELMOW 7
(1] FLMOV (2] HMT
(3) FLV (4} FMV
(3) HOV

12. If in a centain code "CF' is coded
as ‘IL’, 'El’ is coded as "MR and
'HM' is coded as "SY. how will
‘Al" be coded in the same code

language ?

(1) PW |2} KR
{31 OV [4) PV
(51 OW

13. If '"HET Is related to 'TRS’ and
‘EHF s related to "WTV in a cer-
taln way, to which of the follow-
ing is JILK' related to, following

the same pattern 7

(1) LOM [2) SPR
£3) VWT (4) ROF
15} TRS

Directions [(14-18) : Study the
[olowing information carefully and an-
swer the given questions,

In a sports event, differem games
are scheduled to be held on seven days,
starting on Monday and ending on Sun-
day. Two games are scheduled to be
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held on Saturday as well as on Sunday
and one game on each of the remain-
ing five days. The games to be held In
these seven days are : Baskethall, foot-
ball, boxing, sprinting, swimming,
shooting, weightlilting, wrestling and
cycling, but not necessarily in the same
order,

Shootlng is scheduled Lo be held
on Thursday, Boxing and cycling are
scheduled 1o be held on the same day.
Wrestling Is scheduled 1o be held three
days before baskethball, i.e. two sporis
are acheduled between wrestling and
basketball Wrestling is not scheduled
Lo be hield on Wednesday, Weighilili-
ing is acheduled immediately afler the
day boxing is scheduled. Football is
scheduled immediately alter the day
wrestling is scheduled, Swimming is
not scheduled on Monday.

14. Which of the following games is
scheduled to be held on Friday 7
{1} Basketball (2] Wrestling
(3) Swimming (4] Weightlifting
{5) Sprinting
Which of the following games is
scheduled to be held on Sunday?
{11 Football 2] Wrestling
3} Basketball (41 Cycling
(5) Swimming
On which of the following days is
sprinting scheduled 7
(1) Saturday (2] Friday
(3] Wednesday (4 Monday
{5} Cannot be determined
On which of the following days is
weightliiting scheduled 7
{1} Monday (2] Tuesday
(3} Wednesday (4] Friday
[5) Sunday
Shooting is related to Basketball
in the same way as Wrestling is

15.

1B.

17.

18.

related to -

{1} Sprinting {2} Foothall

(3} Shooting {4} Weightlifting
(5) Boxing

Directions (19-28) : In each
group of guestions, below are lowr state
ments followed by two conclusions
numbered [ and II. You have to take
the four given stalements 1o be troe
even if they seem to be at variance from
commonly known facts and then de-
cide which of the glven conclusions
logically follows Irom the four state-
ments disregarding commonly known
facts.

Give answer (1) il only concluy-
sion | follows.

Give answer (2) if only conclu-
sion 1 follows.

Give answer [3) If either conclu-
slon [ or conclusion [l folows.
Glve answer (4) [ nelther con-
cluaion [ nor conclusion 11 follows,
Give answer {8} if both conclu-
sion | and conclusion I follow.
(18-21):
Statements :
Some painis are brushes.
All brushes are varnishes,
All colours are varnishes.
Mo vamish is a canvas.
Conclusions :
l. Nocanvasisa brush.
I, Some painls are varmishes,
Conclosivns :
1. No paint is canvas.
I, Ne coleur is canvas.,
Conclusions :
I. All varnishes are colowrs.
. Some brushes are canvases.
{22-23):
Statements :
All rivers are winds.
All clouds are rivers.
All oceans are rivers.
All winds are hreeze
Conclusions :
I. Some occans are not breeze.
. Mo cloud is an ocean.
Conclusions :
1. All rivers are breeze.
H. Some winds are nol clouds,
(24-20) :
Statements :
All staplers are printers.
Some prinlers are machines.
All computers are machines.
All machines are equipments.
Conclusions :
1. Some equlpments are ata-
plers.
1. Mo machine is a stapler.
Conclusions :
1. Some staplers are machines.
1. All those prinlers which are-
machines are also equip-
ments.
Conclusions ;
L. All compnaters are equipments.
Il. No compuler is a printer.
{27-28):
Statements :
Some rivers are mountains.
All mountains are plateaus,
No plateau is 4 sea,
SOME SeAs are rivers,
27. Conclusions ;
1. Nomountain is a sea.
Il. Some seas are mountains.

21.

22,

23.

25.

26.

28. Conclusions :

l. Some rivers which are pla-

teaus are nol seas

1I. Some plateaus are not rivers,

Directions [29-33) : Study the
[ollowing information carefully and an-
swer Lthe given questions :

A, B, C.D E F, GandH are
silting around a square tahle Insuch a
way that four of them sit at four cor-
ners of the square while four sit in the
middle of each of the four sides. The
ones who sil al the four corners face
the centre while those who sit in the
milddle of the sides face outside.

Two females sil in the middle of
the sides and two al the corners. A
sits second to the left of G, G sils in
Lhe middle of one of the sides. C sits
lourth to the right of his wife and his
wile is not an Immediate neighbour of
Aor G, B sits third to right of her hus-
band. B does not sit at any of the cor
ners, Only D sits between B and H. H
ls the husband of A. E is a male.

28. Wheih of the following is true
with respect to the given sealing
arrangement ?

(1] Mo two males are immediate

neighbours of each other

2] G and H do nol face each oth-

er in the seating arrangement

13} Eand [¥ are Immediate neigh-

bours of each other

4} F is a male and siis diagonal-

ly apposite te E

I3} A sits in the centre of one of

the sides of the square Lable

30. Who amongst the following is B's

husband ?
(1) C 2) G
3 E (4] F

19) Cannot be delermined

How many people sil between B
and C when counted in ant-clock-

wise direction from B 7

|1} Nong 12) One
[3) Two (4] Three
(5} Four
32. Who amongst the following is the
wife of T 7
(1} D 12) F
(3) B 4) G

(5} Cannot be determined

What is the position of E with
respect Lo C 7

(1) Immediately 1o the left

(2) Second to the left

(3] Third to the right

[4) Immediately to the right

(5] Sgcond to the right

Must REaD
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Directions (34-38) : Study the
follewing information carefully and an-
swer the guestions which lollow :

A word and number rearrange-
ment machine when given an input line
of words and numbers rearranges
them lollowing a particular rule. Fol-
lowing Is an lllustration of input and
the rearrangement.

Input  : Might 37 delay an 53 87 hour
19 by 46

Step! : 87 fght 37 delay 53 hour 19
by 46 an

Step I = 87 53 Night 37 delay hour 19
46 by an

Step Il BT 53 46 Night 37 hour 19
delay by an

Step IV: 87 53 46 37 hour 19 flight
delay by an

Step V : 87 53 46 37 19 hour flight
delay by an

Step V is the last step of the ar-
rangement ol (he above Input as
the intended rearrangement is
obtained.
As per Lhe rules [ollowed in the
above steps, ansawer Lhe follow
ing questions based upon the in-
put:
24 cross 82 poad 93 safe 13 jam
halt 4G
34. Which of the [ollowing would be
the second step afler the rear-
rangement ¥
(1] 93 82 46 24 13 safe road jam
halt cross
(2} 93 52 46 24 road safe 13 jam
halt cross
(31 93 82 24 road sade 13 jam 46
hall cross
(4} 93 24 82 road sale 13 jJam
hall 46 cross
{51 None of these
Which of the following would be
the final arrangement
(1) 93 52 46 24 13 sale road jam

{3} 83 82 46 24 road sale 13 jam
halt rross .

(4] 93 82 46 24 13 sale road jam
hall cross

{(5) There will be no such step as
il pets armanesd before step
V)

In step 101, which of the Tellowing

would be the third word /number

{rom the left 7

(1) B2

{3) Jam

{5) Road

Which step would be the follow-

Ing output ?

93 24 B2 road sale 13 jam hall

46 cross

(s

(3) m

(R

Directions (39-43) : Each ol the

questions below consists of a question

and two statements nionbered | and 11

given below Il You have Lo decide

whether the data provided in Lhe state-

ments are sufficient 1o answer Lhe ques-

tion. Read both the statements and —

Give answer (1) I the data in
Stalement | alone are sufficient o an-
swer the question. while the data In
Statement U alone are not suflicient to
answer the question,

Give answer (2) Il the data in
Statement I alone are sullicient to an-
swer the question, while the data In
Stalement | alone are noet sulllcient 1o
answer the guestion.

Give answer (3] If the dawa in
Statement | alone or in Stitement 11
alone are sullicient 1o answer the ques-
L.

(2) 46
f4) 13

2
i v,

Give answer (4] if the data in
bath the Statements | and Il together
are nol sulficient 1o answer the ques-
tian.

Glve answer (8] il the data in
barth the Statements [ and 1 ogether

40. How many runs did Team X

make ?

I. Thie umpire of the match cor-
rectly mentions that had the
bLatsman [rom beam X scored
b more runs, Uhe eamws i
have won the match by 28
nuns

1. The coach corvectly mentions
that the batsman Irom Team
A misscd his century by two
TLTS.

Who among P. Q. R and Sis the

cshoriest ?

[. Sisnolasiall as Rbul istall-
er than @J.

Il. Risnot the tallest

Whalt does ‘'nl” mean in the code

language 7

L ‘nipacalo’ means ‘an honest

bank employee and "sa lo Ja pa’

means ‘employee of the bank’.

11, “fi nl en’ means 'an honest of

ficer” and Lo Nl sa pa’ means ‘re-

puted ollicer of bank'.

Is Jay a sibling (brother or sis-

teri of Rishi ?

1. Jay's mother, Shalini is the
only child of Rishi’s grandia
ther,

II. Rishl'a [ather has a daughter,
Smita, of whom Jay is a broth
&°r.

Directions [44-48) : In these

questions, relallonship between dilfer-

enl elements is shown in the suite-
menis. The statements are followed by
conclusions :

Glve answer (1) il only Conclu
sion ! Is true,

Give answer [2) il only Conclu-
sion II is true.

Give answer (3) il either Conclu-
slon | or Il Is true.

Give answer (4) il neither Con-
clusion | nor 11 5 true.

41.

halt cross are necessary Lo answer the question. i
12} B3 82 46 13 24 sale road jJam | 3B. ln which monlh of the year did ﬁmm?::ﬂ W are h_r;ﬂ o S L
halt cross Lthe construction of Lthe building 44, Biatement )
(3) 1324 46 &2 03 safe road jam begin ? " PaReS>TeV
halt croas . The construction engineer : hnlth: L
(4) 93 82 46 24 13 cross halt jam correctly rememibers that the -l 1N
road safe consiruction began before .R=T
(5} safe road jam halt cross 93 Seplember bul after May and | 46. Statement ;
B2 465 24 13 that particular month did not R>S5=T<U<V>Z
8. mhﬂ:hﬂimlm'ﬂlﬂﬁmmﬁtw have 31 dﬂyﬂ-. Concluslons: | Z<T
VI of the above Input ? (. The builder correctly remem- Il. 5S>V
11} 93 24 82 road safe 13 jam bers Lhal the constructlon | 46. Statement :
hall 46 cross began after Fehruary bul be- ZerX<Z¥oliLls2
(2) 93 82 24 road safe 13 jam 46 KN e id () St s Conclusions: | ¥ =L
Bt derous nF particular manth did not I ¥>X
have 31 days.
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47. Statement :
A<B<C,CaD<cE
Conclusions: |. B> E

. D=A
45. Statement :
HesdiF<H: lzsJd=K
Concluslons: |, H=>1
NIz2F
Directions (49-53) : Read the
following information/statement care.
fully and answer the questions ;
48. Which af the lollowing svmbols

ahould replace the question mark
In the given expression In order

to make the expressions "M < K
s well as 'L > P definitely true ?
KzL2M=N>p
1) = () <
3] < (4] =
{5} Either < or <

50, In which of the following expres.
slons will the expressions H g F
a8 well as J = H be definitely
lrue ?
MF>G>Hzl=d
IF<GgH<led
MF>G=Hxzl<dJ
MFeG>H=zl=md
(5] None of these

B81. Which of the lollowing expres-
sions will be true if the glven ex-
pression A<Cz2B=D<E'is
delinitely trse?
MA<D 2IE=C
(3 D= C ME<B
(3] None s true

82. In which of the following expres-
sions will the expression 'L > P
be delinitely false 7
L>M=N=P
2l PaN>L>M
BP<MecNcL
[ML>M=N>P
(5) All are lalse

B3. Which of the following symbols
should be placed in the blank
spaces respectively (In the same
order from left wo right) in order
to complete the given expreasion
in such a manner that 'V > &
definitely holds true ?
VvV _W_ X Z

N e<= (2] . 2 <
3 =< 5 (4] > 2 >
(5) None of these

Directions (34-58) : Read Lthe
following Infermution carefully and an-
swer the questions which lollow :

(i} A is mother of B

[ii) C is sister of A

(it} D Is Tather of C
(vl B is son of E.

54. Which of the following siatements

are required to establish that E
Is a male 7

(1) Only (k)

(2) Both (4) and (iv)

(3) Both (1) and {iv)

(4] Bath (1) ard (1)

{5) Both (i) and (i)

How is I related to E 7

(1) Father 2] Grandfather
) Son-in-law

(1) Grandson

5] Father-in-law

Directlona (36-60] : In each ol

the following questions, two rows of
numbers arc given. The resultant num-
ber In cach row I8 1o e worked out
separately based on the following rules
and the question below the rows of
numbers are to be answered. The op-
eralion of numbers progress from left

Lo right.

Rules @

i If an odd number is followed
by a composite odd number (a
non prime number), they are Lo
Be multiplied.

(il If an even number |8 foilowed
by an odd number, which is not
a perfect square. they are Lo be
ndlded.

(i} 1F an even number s followed
by a number which is the per-
fect square, the even number is
to be sublracted from the per-
fect square.

(ivl IT an odd number is followed
by a prime odd number, the Nrst
number is o be divided by the
second number,

vl Il an odd number is (ollowedd
by an even number, the second
one Is to be subtracled from the
lirst one,

|Afler the operation on the first

two numbers, the resultant is to be
congldered as the number for apply-
ing aperation between Lhe second num-
ber [the number obtained after perform-
ing operation between the first and
second numbers given in the question)
and the third number. |

For example :

Consider the lollowing question :
S8 B4 7

49 48 A

if a i= the resultant of the first
row, whal I8 the resultant of the
second row?

(1} 363 2] 454
(3) 22 (413
5) 31

Here, after performing operation
between the first two numbers,
Le. 38 and 64, the resultant ob-
Lained is 20, Now 26 s 10 be con-
sidered fur performing the opera-
tion between 26 and 7 {the num-
ber given in the question). The
answer Lthus obtalned here would
be 33. Now 33 |8 o be consld-
ered as ‘a’ and operations are Lo
be performed In the simillar fash-
ion between the numbers given
in the second row. The answer
obilalned here alter perfonming all
the operations would be 3053, Lhus
1) would be the correct answer.
12 2] G

5 i B84

Il yis the resultant of the first
row, what is the resullant of the
second row 7

(1) 125 (2) 25
[4) 47 (4] 27
[5) 43

& 1] 15

x 12 11

if x Is the resultant of the lirst
row, what is the resultant of the
second row 7

(1) 33 2] 45
{31l {4) 15
(53

18 37 5

2 m &

If m is the resultanmt ol the first
row, what is the resultant of the
second row?

(19 (2) 55
(3) 78 [4) 7
(5] &

16 64 7

40 34 z

If 2 I8 the resuliant of the flrsl
row, what is the resullant of the
second row, 7

(1) 825 {2} 40
(3 3.67 (4) 70
(3) 55

27 | & 3

it 9 5

If p is the resultant of the [irst
row. what Is the resullant of Lthe
second row 7

(1) 50 i2) 9
(3) 40 415
(5) 8

Must ReaD
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Directions (61-78) : In each of the questions given below which one of the
five answer figures on Lhe right should come alter the problem figures on the QUANTITATIVE AFTITUDE
[, i ol il ] . ‘?
bede, i the -ﬁa*quln:n-::* were continued )+ What should
Problem Figures ___' _l.tll wer Fiures — | vome in place of the guestion mark (7]
'ln .ﬁ{. .&E ﬂﬂ ﬂu Eld EIII E.h EI] En in the tollowing questions 7
a]- - i - § -.
@ - > A " a3 A o @ > T6. I:ﬂ;nl'ilmﬂu ?;znlrgﬁﬂrﬂ 38
M @ @ & 8
& aje slv 0O vim= c] o ol o0 =g =g = (3 15 (1) 8
a2 | = 3 * o * A = - A £ (5] Nane of these
O Ulx DOjc 3% ¢la O]l= &g v alo ecjx A T77. 186 x 7+ 14 = 1302
(2 3] (4] - |5 (1) 88 {2) 92
] 0] E] A .3 T A o o (3} B8 (4) B4
gy, [tV LmedUmelrddie ) KM bAAv|aA LM< bilde b g
C o > 4 a n| = f f - (5] None of these
(1] [2) (3) (4] 113) 78. 184 %V % 8= 1830
@ O= 2l Ofx g[‘r =l ol oo T|r ou o (1 1.0 {2) 12.5
G4, (*OTITE®*: TIHUCO *8| BTO@=00¢=F=0/0TH (3] 14.5 (4} 10.0
F =i (] =l= TG Ly = o T AR S U= o {5] Nane of these
h 3 (A __W I | 29 5482.24 + 2548.56 + 7 =
¢t § Ol0=Li=0 6|6 Aaclas Ol [O=¢lcD Al Aa=l0o0 clO0O ¢ Vgt '
i OG206G 206
65. i a L o o z H (o] z o . ) i
[ELOOL Sjladcdit =0|0C =||s af=0 slofcij=a 3|j=a 5 [.lll'.:,!qﬂ'.-lﬁ (2) 1546.95
A T2 @ ) ) 8) 146,56 (4] 1569.45
N Il | (5] Mone of these
ollle p A ﬁ-[-;-[-‘ ==k
66 _IE 2%, 1 X"'”“ \ﬁe Tt | 0. ¥31E7 -2
0@ @ [ 15 (1} 14 (21 11
fnsiq-nnnrn.u*ual!nir=:'ai_c’ﬂ*r4ntn=ti*-'- | 7 413
67. | * > A v v > > 5 “L > (5) None of these
do nolos oltosls 20| ls s ¢los s £ i al Y.
R -2l i i ‘Eﬁﬁ TR Directlons (81-8%) : What ap-
aa | aX) &F| W0 Fl " +3 il . T‘*‘ e %Y | ot the guestion mark (7 In the ollow
v o ola’t oo oh¥a o W5 ol ol s oy ol '3'.‘ ing Yuestions? [Note : you are not ex-
I l i [2} [3' {'1} u—l]. pﬂdﬂd I.ﬂ el IL'LI Iﬂt‘;" !.h.l: E:‘:.-Llﬂ ‘IEE!.I.H‘.-.'I
2] © = & ™ ™a=T 81. 18.505% of 550.010 = ?
A z o | | R e =% . (3) 100 [4) 120
M @ 3 W\ (5] 00
| I g r hbrnrm rmp rEjreh T p ol [aTed 3005 4 € — 9
o - . allg e e e Z'ihl-!} il 82. 469.69 + 'BEID.H? d. DOG.66 = ©
e el N R
b o = B =0 o jd= in_. 1 15) 2900
L _ﬁ G ' — r -
3 o =/ | | 3 ] I = | | 8 Ji5s9=7
1 2 @ 15l I1) 40 12 45
=] ] o - tm 3] a5 (1) 30
72 | = S z X, |,° (5) 50
L= z MO W\ e
Bi 24908 x 13.005H = 17.080 =7
i1 [t [) (41 (354 G =
v v v Y Al v (1) 6225 (215525
7. | N A lvAaUnav A v u v n A 1) 5405 (1) 3875
A U . n U A AT n [3) 6025
. 12 i3 (% BS. 8590099 + 420.002 & 14.996 «7
. . . ~ (1) 250 [2) 325
N L ASECHRIACRD] |SEAOR|CEADNABONSISAAND |SAEON
74, [HLINDIEBLDN|BEDNCIASED - (31275 (41300
) 2 &) e () (31 350
o 0 ola o oladofasaloaallooaloo sjoo ofoascoas Directions (86-90) : In the fol
=B, (PRICEJECARFIPECARIAASEP|PRASE| [ESDRPIEPAAS|ESDRPIEFRASIESARY] | lowing number serles only one num-
4 4 bja A QA0 00N GO O 4 |O A ALOA AlA A AL D DO A A ber iswrong. Find oul the wrong num:
i) 2y 3 {4} 571 b
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86. i 348 Sti¢ 689 716 750 788 A committee of five members is one year the business cams a
(4716 (2} 788 0 he formed out of 4 students, 3 teach- profit of § 20,6061 What is Deep-
(4 348 (41 655849 ers and 2 sporls coactws, In how many thet's shea= In the mdi
(5! 780 wavs can the conmmiilee be farmed il (1} ¥ 76568 hs Bl L
87, #3434 2794 1114 5536 28165 | B4 the Commillee shoukd constst of (3) ¥ 7.240 t4) & 65.390
142,75 73.375 2 students, 2 teachers andd | (5] Beone of these
() 2224 (2 281.5 sports coach 7 Directions (101-108) : Study the
KIRERE {4) 556 {1} 25 {2) 64 following graph caretully 1o answer Lhe
15 14275 {3) 9 (4} 36 ruestions ;
88, 45 16 25 33 1385 42 4315 {3} None of these Percent Profit Earned by Two
(1} 3% {2) 38.5 83, any five people can be selected ? Companies Over the Years
1 42 (4] 43.5 () 126 (2) 45 Per cent profit
15 25 (3) 120 _ (4)24 (lncome ~ Expenditure] = J O
89, i 49 305 1545 619G 18603 (5} None of these = Expenditire
37218 98, In how manv dilferent ways can '
(i} G194 {2) 49 the letters of the word “LEASE ] ;
(3) 305 (4) 1545 be arranged ? A SRR
15) 18603 (1) 240 (2)120 —0— Company B
90. 8 5 6.5 11 26 68 207.5 (9 25 {4) GO 65 .
i1 68 (2) 5.5 (%) None of these i
(3 11 4) 26 97. The digit in Lhe unit's place of a 55
I (4} - 54
{51 2075 three dight number is thrice the | S - |
Y e digit in the ten's place and the | & 404
81. ¥ men can complete a plece of ;
werk in 6 rlnya?‘.! wmﬂ; Eitth digit ln the hundred's place is | 2 J"i -
cumplete the same piece of werk tv w-third of the dight in the ten's E o5 iy
in 9 dlays; whereas 3 children ean place. If the sum of the three dig- 30
complete the same piece of work its of the number ts 14_' whal i 151
In 8 davs. 3 women and 4 chil. the Lhree digil number 2 IE
dren worked together for | day. 1) 932 {2} 239 i .
LT o ea—" Py peaL ) T | |
Il oaly men were to flnish the [3) 326 drkys GO0 KT B0 SO08 h)
remaining work m 1 day, how (4) Cannot be determined Y
:::::E:I Lmnl mien would be re (6] None of these L0014 1 FigGinie L B A i
! i ome of oo ;
e (2) 8 i I{h“ P G M JHESERL Raee0f the vear 2006 was T 6.425 la
3 Meena and Fiona is 16 = 13 re- i it
(36 spectively. Four years ago the PRy " i it Expericitine in
() Cannot be determined respective ralio of their ages was Lhat year
(5} None of these 14 : 11. What will be Fiona's age ) T 4.7 lakhs
92, Whut will be the approximate dil- four years from now ? (2} T 5.2 takhs
ference In the simple and com- (1) 28 yeurs 2] 32 yeara 3 T 4.5 nkhs
pound interesi pecrued on an i) 26 yvoars  {4) 36 yeors (4) T 5.8 lakhs
smount of T 2600 at the rate of (5) None of these i5] None of these
::1::"9 Pt al the end ol three | g e cost of bullding a fence | 102. If the expenditure of company A
el around a circular lield is in tne year 2006 was ¥ 3.6 la-
1} ¥ 167 (21 ¥ 194 2 7, 700 al the rate of T 14 per khs, what was the amount ol
I ¥ 202 41 € 172 foot, What is the area of the oly- proft earned by it in that yeas ?
15 ¥ 184 cular field 7 (1) T 2.52 lakhs
23 A H'i.ﬂ mrl':: lowg train crosses a {1} 24062.5 sq.iL {21 ¥ 2 46 lakhs
platiorm Iknce its lenglh in 40 ' ; : 4% 1 34 lakhs
seconds. Whal i8 (he speed of the t ?ﬂm: 3. % :
1kl J_“ hﬂ‘lj"hﬂllf !rp {ﬂ} -I!"i'ﬂ"'l-dl.-.] ﬁl:'l.“ I‘I'I ? I.d! 1““."1'.:
(1] 1200 2) 1152 (4} Cannot be determined {5) None of these
(1) 108.4 _ (5) None of these 103, What is the approximate aver-
' 100, Gina invesis T 48,000 1o start a age percent profit earmed by com-
A Canmol be dlei
:.’1 HB:: “h:i‘:'“’"‘“' business. Four months later pany A over all the years togeth-
' . Shrayon joins her by invesUng T er?
(ol mm?ﬁg?*ﬁﬂf-? l;imr b 62,000 and another two months (1) 87 (2] 36
i L1 Y ¢ S i
Dt hf uriilluu:"ﬂhm fq:ll:w-" i later Deepika joins them both by {3 41 141 K3
fues - : investing ¥ 80,000, At the ¢nd o (5) 45
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104. if in the year 2009 Incomes of
hwsth Uhe zompandes A sl Baepie
the semm, whal wos the resp=y
tive ratloof Chelr expendilares i
thal year?

(7:5

{2) 16 :15

(3 23 - 21

(4 Canmot be determined
(5] None of these

105. What is the percentage increase
in percent prolit of company B in
the year 2008 from the previous
year ? (rounded ofl 1o twao digits

atter decimal)
(1) 17.65 (2) 19.25
3] 16.55 (4) 15.75

(5] None of these

Directions (108-108) : In the
following guestions three squares A, B
and C are given which contain four [ig-
ures/ numbers related Lo each other.
The figures/numbers in the first two
squares are given as examples and bear
# certain relationship lo each other
within Lhe square. This relationship can
be established/calculated vertically.
horizontally or diagonally. Depending on
this relationship between the figures/
numbers in the first two squares, find
oul what should come in place of the
question mark (o the third square - C

3272l 66s65] [7 13
108. Iholsz| |765 365 |33 -7
A B [
(1) 27 (2)-13
[3) G 5113
(5) -27
9 [540] [5 [o00] [23]144
108. 451180 (25[100] [12] 7
A B C
{1) 48 (2] 36
(3] 24 (4] 52
15} G54
6 12] [a][8] [Z5]°
107. [Gei24l [32]16] {2010
A B C
(1] 4 (2) 5
(3) 5.5 (4} 6.5
(5 9
100, Mehul's monihly salary is one and

a hall times Shallesh’'s monthly
salary. Prashant's monthly sala-
1y is live fourth of Mehul's month-
by salary. I ihe total of the month

Iv salaries of all the three is
T L93752 whiat is Prarhants |
itk salane

T 42000 (2T GESM)
T 7ETR0 43 63,000

(5] Nonz of Lhese

On the annual day, sweels were
0 be distributed equally amongasl
600 children of the school. But
on that particular day, 120 chil-
dren remained absenl. Thus,
each child got 2 exira sweels.
How many sweels was each chiid
originally supposed Lo get *
IR 2} 14

13} 10 1) 6

15 None of these

Directions | 111-115) : Study the
following table carelully 1o answer the
guesiions thal follow

Number of Employees Promoted to
the Post of Manager in Six Different

110.

Banksa Over the Years

Bank L IM|{NIO P I1Q
Year

2005 48146 | 52 44 | A7 | 30
2006 50]47|50| 3244 | 96
2007 46 40| 50| 42 | A8 [ 35
2008 38148 361 51 |35 39
Lﬁﬂm& 32|44 |46 45 |48 [ 40
2010 D2(30[47( 4] |46 43

111. What is the average number of
employees promoted by Bank O
over all the years logether 2

(1} 44 (2) 30.5

(3) 35 |4) 42.5

I5) a6

What is the total number of em-
ployees who gol promoted in all
the banks Logether in Che year
2008 7

1} 234 (2) 243

(3) 266 (4) 282

(5) None of these

Whiit is the percenti increase in
the: number of employees promot-
ed by Bank Q in 2006 [rom the
previous year 7 (rounded ofl to
two digits aller decimal)

(1) 16.23 (2] 15.84

[3) 17.95 I14) 18.68

[3) None of these

Number of employees promaoted
by Bank P in the year 2009
forms approximately what per-
cenl of the total number of em-
ployees promoled by all the

112,

113,

114.

Lanks together in that year ?

(1) 30
(3 13
(3} 235
What as the respeclive ratio of
total number of employees poo-
matedd by Bank M In the vears
2006 and 2010 together Lo the
total number ol emplovees pros
moted by Bank L lrom the same

(R Rt
(41 1D

115,

Vears 7
(1) 41 : 63 (2) 43+ 5]
() 47 - 53 {4} 45 : 151

(3) None ol Thess
MMrections {116-120) : Sty the
following geaph carelully to answer the
gquestions that lollow :
Number of Girls and Boys Partici-

pating in a Rally From Five Differ-
ent Schoals

O Girls
B ilovs

A 3] (&
School

118. What is the total number of girls
participating in the rally from
schools A and C together ?

1} 825 [2) 875
(3} 950 [4) 975
(51 None of these

117, The number of bovs participat-

Ing in the rally from school B is

whal percent of the otal number

of children participatng in the
rally fiom that school 7 {Round-

e off 1o two diglis aller decimul. )

[ 15.84 {2} 47.37

(3) 49,28 |4} 4640

{5) None of these

The munber of girls participating

in the rally Irom School E is ap-

proximately what pereenl ol (he
number of boys participating in
the rally from the same school 7

[ =

118.

i) 81 (2) 106
(3) 122 4 95
(3] 114
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118. What Is the respective ratio of to-
tal number of girls participaring
in the raliv from schoole D and ),
Logetber bo the tolal nuemtbyer of
boys partiopating in the rally froan
schools A and B together?

(1) 23 - I8
(2) 43 : 35
(3) 41 : 38

4) 21 : 20
o) Neonee of these

L2 Wi W the snvesase nuinbiee ol
Earrs perlcigaing o the rally
itom all toe schools bgether ?
(1 500 [Z) 480
{31 525 (4} 495
(%) None of thess

Directions (121-1285) : Study Lhe lollowing table carefully to answer the

guestions that foallow :

Percentage of Marks Obtained by Six Students in Five Different Subjects

in A School Examination
Subject English Matha Science Hindi | Social Studies
Student (50} (100) (150) (50 (75)
P AT B9 = 78 84
0 58 79 B4 B2 G0
R 62 77 74 B4 88
S5 72 67 84 74 68
T 70 Bl 70 75 64
u G4 83 GO EB 70
Note : Figures in brackets indicate maximum marks for each subject.

121. What is the approximate overall
pereentage of marks obtained by
L in all the subjects together ?
(1) 75 2] 71
(3] 79 {4) 52
{51 87
Il in erder Lo pass the examina-
tien a minimum of 109.5 marks
are required in Science, how
many students pass in the exam-
ination 7
(1] None [2) Two
(3] One (41 Three
i5] None of these
123. What are the average marks ob-
talned by all the students togeth-
erin Hindl 7
! 1

i — 30—
(1) G {2} q

122.

1 1

$l= 44 =

(2} 3 (4) 3
i15) None of these

What Is the average percentage
of marks obtained by all the stu-
dents together in English 7
(rounded to the nearesl integer)
(1) 61 2) &3

(3) 65 {4) 68

i5) 50

125. What are the total marks obtained
by S in all the subjects together?

ENGLISH LANGUAGE

Mrections (128-135) : In {he fol-
lowing pasange there are blanks, each
of which has been numbered. These
numbers are printed below the pas-
sage and against each, five words are
suiigested, one of which fits the blank
approprintety. Find out the appropri-
ale word In each case.

People are as much attuned to tair-
ness as they are o Individual self-in-
terest. Therefore, any institution regu-
Iating human behaviour will have to
[126] that the compromises belween
individual self-interest, collective inter-
esl andd (airness are all within tolera-
Lile limits, These trade-affs are as [127)
for larger Institutions, including the
largest of them all, Le., the stale, na
thev are {or the smallest ones like the
family. (128] as parenis should nol
repeatedly favour one child over an-
other. the stale cannol repeatedly
favour one community or class over
another. The (128] of fairness is in-
grained In our psyches. Since human
beings often grab what they can, we
need institutions 1o ensure fair (130].
Of these institutions, the state |s the
mosl Important, since it is (131) w
ensure that hasic human nceds are
erisured with minimal standards of falr-
ness, A state (132) of or uninterested

Further, the legitimacy of the siate
16 depen:dent on its being a5 cluse to a
neuiral wmpee 8 possibee, Whes the
atate (133 pastisan, s logtonacy enn
bo guestivned. When the state sheds
the umpire’s clothes and bedcomes one
ol the players, the rules of falr play
are so badly [134] that we con only
call such an event intalerable [1L35].

128. (1) deman:l 2] ensure
[3) consider  {4] regulate
[5) encompass

127. (1) imporiant
(2) juvenile
(3] insignificant
[4] supreme
(51 part

128. |1} Presently  [2] Same
{3 S0 [4) Like
(D) Jusi

128. (1) opinion {2) judgement
3 end (4] ez
(5) conclusion .

130. (1] people (2] dissipations
() outcomea  [4) alfecis
(5) discouragements

131, (1) stimulated (2} caleulated

(3} considered  (4) hastened

15) designed

132, (1) qualificd  (2) riddled
(3 powerful (4] incapable
{5) shortening

133. (1} appears {2} allow
{3} become (4] recommends
{5) visualizes

134. (1) twist (2} stapped
(3 mended (4] broken
(5} abaled

135. (1) ruth (2] falrness
(41 injustice (4) murder
[5) fartune

Directions {138-140) : Rear-
range the following flve senlences (A),
(B, (Ch (D} and [E] in the proper se-
quence Lo form a meaningiul paragraph:
then answer the questions given be-
low Lhem.,

(A For almost two months now, the
struggle to cap the oil well and
protect large sections of the courn-
try’s coastline from being devas-
tated has heen the top story in
the news and the major concern
ol the US administration

i1 317 (2) 309 in ensuring equity in security. educa- iBj At present, though. one finds lit-

{3 323 [4) 348 tion, food, health and shelter is a stule tle expression of this in the dis-

151 None of these whose legitimacy will be questioned, cussions around the oll spill
MusT READ e KIRAN'S COMMON ERROR IN ENGLISH
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{C} 'or these months it has been real-
ized that this is an environmen-
tal crisis of gigantic proportions,
and is purely man-macde.

Qll and waler do not mix. as the
Americans are being [orced 1o
accept with the tragic oil spill
Trom a Bntish Petroleum oil rig
in the Gulf of Mexico.

[E} Whether in the long-term this will
eompel Amercans to think again
aboul their dependance on lossil
luels and serioushy embark on the
path of scaling it down and en-
couraging aliematives remnains to
he seen .

138. Which of the following should be
the FIRST sentence afier rear-

D)

rangement ?

(1) A 2)B
(3] (4) Dy
(5] E

137. Which of the lollowing should be
the FIFTH sentence afler rear-

rangement ¥

(1 E (21 D
13 C (41 B
I15) A

138. Which of the following should be
the SECOND sentence alter re-

arrangement 7

i1 E 2) D
3 C (4B
Bl A

138, Which of the fallowing should be
the THIRD sentence afler rear-

rangemeaent

(1A 218
(e (4D
I51 E

140. Which of the Inllowing should be
the FOURTH senlence alter re-

arrangement ¥

tilA (21 8
[ (4] D
(5 E

Directions (141-1485) : In each
of the following sentences, an idiomal -
I expression or a proverh s hightight-
ed. Select the alternative which best
deseribes its use in the sentence. I
none of the alternatives explains Lhe
usage ol the term adeguately, give
‘Wone ol Lhese” as your answer.

141. "Haman is the best player that our
eam has and in the big games
against the best players, he takes
no prisoners.”

(1} Raman is determined and does
not care about other people’s
opinions while playing in the
big games against the best
plavers.

12} In the big games against the
best players Raman physical-
Iy injures every player of the
other leam,

(3 Raman is very caulious and
plans every move while play-
ing in the big games against
the besl »layers.,

[4) Raman employs unfair means
while playing in the big games
against the best players.

{5} None of these

By revising the tax code, the Gon-

ernment would be opening a Pan-

dora’'s Box.

(1} The Governmeni would be
inviting the public wrath on
revising the lax code,

(2} Along with the revision of the
tax code the Government
would get several other un-
known beneflls,

(3} The Government would be
Inviling a series of unforeseen

troubles by revising the Lax
code.

(4) Revising the tax code would
work to the advantage of the
Governmenl.

. 3] None of these
143. Anuj had made a huge mistake
in the presentation about his com-
pany and thus his immediate
boss took him to task.

(1] Anuf's immediate boss took
Anuj 1o his superior for an-
other assignment after he had
!Tm:kamm.akummr: presen
Lation.

12) Anuj's Imimediate boss pa-
tiently explained to Anuj that
the mistake made by him in
the presentation was excus.
able.

(3] Anuj's immediate boss com-
pletely ignored Anuj's mistake
in the presentation and ex-
plained (o him other taska
that were to be done.

(4] Anuj's immediate boss as.
signed Anuj another Job afler
he had made a mistake in his

presentation .
(5) None of these

133,

144, Ritu triecd her hest o oonvinee
the villagers Lo open a school {or
the children, but it looked like
she was beating a dead horse.
[1) Ritu's effort of trying to con-

vince (he villagers 1o open a
school for the children was
belng perceived as a state-
menl of anger,

(2] Ritu was trying harder than
WS Necessany Lo convingce Lhe
villagers (o aopen a school for
the children,

(3l Ritu's effort of Lryving to con-
vince the villagers 1o open a
sehool for the children did not
leak lke it would succeed.

(4) Ritu locked desperate while
Lrying Lo convinee Lhe villag-
ers 1o open a school for the
chikdren.

(5] None of these

145. Left to his own devices, Mahesh
would hire someone to do the diny
wark of washing dishes.

{1} Mahesh needed congtant su-
perviaton in order to wash the
dishes

(2} 1f Mahesh were allowed Lo do
a5 he wished, he would ap-
point someone to wash Lhe
dishes.

(3 Mahesh would use a series of
devices in order to appoint
someone Lo wash the dishes.

(4) Mahesh would hire someone
to wash the dishes in the
dishwasher.

(5) None of these

Directions (146-150) : Each

question below has two blanks, each
blank Indicating that something has
been omitted. Choose the sel.ofl words
for each blank which best fits the mean-
ing of the sentence as a whole.

1468. The actress’ __ from a chilled-
out girl off screen to an intense
Actor on screen n just a lew min-
ules is amazing.

(1} change, Improperly

{2} revolution, just

{3} transformation, simply
(1) adjustment, really

{(5) renovation, truthiully
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147, Considering the al the eity
Lo chemical and industrial disas-
ters, Lhe State disasler manage-
ment authority has decided to
constilule an expert study group
to analyr: all possible threats and
sugeest to make the city
‘disaster-resilient’.

{1} vulnerability, measures
(2} propensity. skelches
(3] volatility, plans

{4) regularity, preparatons
(5] instabllity, mapa

148. Despite the collapse of efforts (o
legislate a climate bill, the coun-
try has international nego-
Hators It remalns lo re-
ducing carbon emissions over the
next ten years.

1] entrusted, obligated
12} promised, averse
(3] dectared, ignorant
4} assured, committed
(5] pledged, attentive

by ather singers and mu-
sicians, the singer sang his heart
out and even _____ the young
newecomers during their act,

(1) Helped, smiled

(2) Accompanied, cheered
{3) Created, judged

14) Stopped, applauded
(5] Assisted. greeted

150. The health officials were Lold Lo

the medical practitioners
about the treatment and Imrmedi-
ate medical Lo be given to
swine Mu patients.

(1) inform, asslstance

(2) enlist, backing

(3) dissuade, aid

(4) apprise, emergency

I5) encourage, help

Directions (151-160) : Read
each sentence o find out whether there
is any grammatical error or ldiomatic
errar in L. The error, il any, will he In
one parl of the sentence. The number
of thal part is the answer. Il there Is
no error, the answer Is (5). (Ignore or-
rors of punctuation, if any.)

151. The celebrations continued [1)/
through the evening as more (2)/
and more friends joins (31/ in the
fun and frolic.{4)/ No error (5)

182. The aciress believes in [1)/ be
ing Mt and feels that there (2)/
are too much hype around skze

zero (3)/ In the entertalnment
world. (4)/ No error (5)

149.

183, While the actress wins fans wilh
(1}/ her an screen lireworks, off
screcn, Iit's her (2)/ down-to-
carth attitude and easy-going
manner [3}/ ihat wins her
friends. {4)/ No ermror (5]

Even the exchange atiract

(1) the attention of all those

present at [(2)/ the police station_

the Inspector continued {3]/ his
tirade against the girl. {4}/ No

error (5)

155. The market continues to be posi-
tive (1)/ and In the next quarter
we expected (2)/ the trend Lo con
linue with (3)/ the onset of the
festive season. (4)/ No error (3]

158. The Indian team cannot win the

series (1)/ and even pulling off a

draw could (2}/ be a tough prop-

asition with [3)/ its lead bowlers

not playing. [4]1/ No error {5)

With this Initiative, the corpora-

tion [1}/ hopes to assure the pub-

lic that (2]/ it is conlident of pro-
viding good service (3)/ and re-
newing their faith with the pub.

e transpart system. (4] No er-

ror (5]

188. The games scheduled (o be held
in the State [(11/ have been
plunged inlo crisis just two
months prior the (2)/ opening
eercmony by allegations of cor-
ruption, (3)/ shoddy workman-
ship and delays in handing over
venues, (4)/ No ecror (5)

158. The sale idea behind (1)/ conduct-
ing such programmes (2} is o
creale awareness (3)/ among
young minds of our nation. 41/
No ervor (3)

160, The reports prompted the chair-
mant of {1)/ the organising com-
miltee (o address a hwried press
conference (2] where he repri-
manded the media (3}/ for con-
ducting a “prejudiced campaign ~
{4}/ No error [5)

Mrections (161-175) : Read the
following passage carefully and answer
Lthe questlons given below . Certain
words/phrases have been printed in
bold to help you locate them while an-
swering some of the questions.

Indians are known for their ob-
sesstve and compulsive [ascinallon for
gold. India Is the largest importer and
largest consumer of the yellow metal
as Indians buy about 25 percent of Lhe

154.

157.

world's gold. In 2008, India imported
around 400 lons of L. Abuut 80 per-
cent of the world's extracied gold is
fashioned as jewellery. However, imost
of us don't know or don't think abaul
the environmental cost of the metal.
For Inslance. extracting enough gold
to forge a solitary, no-frills wedding
band ultimately translates into roughly
20-30 tons of waste, At seme mines in
Nevada [USA), 100 tons or more of
ecarth have been excavated for a single
ounce of gold.

The waste Is of two forms: re-
dundant rock. which is typically plled
as Bal heaps in locallons near the min
ing site and the efMuent or tailings
which are a rescl of chemieal process
ing of the mined ore. Sulphides in the
redundant rock react with oxygen.
making sulphuriec acid which frees
heavy metals like cyanide, cadmium,
lead and mercury harmiul to people
even at miniscule concentrations, The
tailings component is typically a thick
slurry laced with cyanide, aluminum,
copper, lead, and mercury: enough (o
decimate lish populations ol waler
environments it 1s disposed ol into,
Disposal of wet Lailings into water hod.
tes has been effectively banned in de-
veloped countries but it continues (o
be practised in most developing na-
tions. There is also a very real danger
of surface water and groundwaler ta
ble contamination on account of Lhesc
heavy metals.

in fact, gold mining generales
more waste per ounce than any other
meétal and the ellects are starling. Min
ing lor gold has lell huge gouges on
the face of the earth, 50 massive Lhal
thev can be seen [rom space.

According (o 2 study. respiratony
allmenits, soil and waler contamination,
thick blankels of dust, withering ol
coconul trees and chianges n Lined pat-
terti use are some of the common fea
tures of the urban area around a par
ticular gold mine in Karmataka, Many
areas are reported Lo have Become in-
fertile because of soil contamination.
They contain a percentage of heavy
metals encugh to relard plant growth

Similarly. according to another
report in 2008, nearly seven years af-
ter the closure of these mines, the peo-
ple of this region continue to face sen
ous ervironment and health problems,
particularly in July and August, due to
winds in these months that earry with
them cyanide particles [rom the dust
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piles in the abandane] miness. When
the mines were rperitional a layer of
red sodl erserd Lo be pol over Lhege dusit
plica before these crucial memihs o
prevent the cyanide particles from be-
Ing carried sway by Lhie heavy winds,
Now Lhal the niines have been closed,
the mitigative measures have ceased
as well,

Beondr trom sacially and ooonoim-
feally marginetaerd comrmuanities ym i
mining Lo cscngse acule porerly, unem-
plovient, and landlessness. In som:
cases, their homes and farms may be
"aequiied’ fur luge-scale gold minng,
While compensation is promised (o
them, it may ake a year or two to kick
in. Till then, lurced 1o che oul a bare
livelihood mostly in a kind of loltery
system, they resont to erude methods
i sevarate any lecks of gold that may
e there In the discarded waste (ock
using mmercury. In the process, desiroy
Lhemselves slowly as well as itheir on-
virnmenl. The shanly towns which
inevitably come up around the lnrge-
seale mining siles only serve to add Lo
the problem, Given thelr iBegal and
therelore unrecognized nature, they
lack basic amenities like garbuge dis-
posal and waler supply and sanitation,
hecoming another unsightly biol on the
Linrissape

Accarding (o the World Gold
Couneil, while estimates of numbers
engaged in anbsanak miniog vary wile-
ly. they range between 13 ancl 20 mil-
lizy rnen, wosnen and children Irom over
06 developing countrics. Indeed, It is
helieved that as much as a quarler of
the worktd's gold s supplied by anlaan-
al miners. Thelr eflorts (o eam them-
selves a dally wage have resilled In
huge halitat kosis and destrucUon. For
example, huge patches of land, once
home Lo lush Lrees in the Island of
Bomeo in Indonesia, are being swiltly
renlercd reeless and lifeless pits of
wasie. incidentally, the island is high-
ly famed lor its rich biodiversily. Com-
bined with heavy pressures from the
logging loblny and need for cheap pow-
er through hydroclectricity amnd relent-
less mining avilvity, it is hard o imag-
ine il Borneo will manage (o retain is
Crewin.

Why shoudd these [acis abonat gold
mining bother us? Alter all, we just
import the metal; we do nol mine it
here to the extent other counurics do.
That's aboul 1o change though, New
Delhi bas big plans 1o foel growth in
the runing sector and is iooking (o open

mvestine e pold minkng in the coun-
Ly = anmd b a ey way.
Hewever, India's environmental
track record in mining has been any
Thing butl stellar. And this is something
thal requires close uttention in light of
the pianned Incroased lorays into gold
miniag. Even with the comparatively
minuscule anwounte of gold mining
dotre g0 fan, ae have tripped up on
cavirenmenial consilerationn Genlng
trally. Indin's terroin is very similar 1o
those I olher parts of the world where
there have beeu huge gold linds, Whiat
we need Lo do s Lo learn [rom the mis-
takes comnmitled by cenaln developed
countrics i thelr own backyard, We
have a whole series of examples of
where things have gone wrong from
ulther developing countries, We need
Lo uae these Insights to our advantage,
and quickly.
161. According o the author. how are
gold mines detrimental to the
environmenl as well as public
health even after thelr closure 7
{1} The layer of red soll used to
cover dust piles in these
milnes seeps inlo the ground-
water, thereby making L un
fil for consumption
(2} The mines weaken lamg mass
and increase the chunces of
occurience of earthquakes,
especially after there is no one
Inoking after them

(3F The mitigative measures
adopted afier the closure of
these mines are nal anper-
vised adeguately hence are
highly damaging

) The unsupetvised inines now

hecome a threat 1o the enwi
ronment as inexperienced
people carry ot unchecked
mining aclivities

(5) Winds in specific imonths cir-

v hormful heavy micial partl-
cles from the dust heaps anc-
cumulated In these mines

162. Which of the following |s peossi-
bly the most appropriate lille for

the passage 7

(1) Gold Mining and India - The
Inseparable Duo

(2) Artisanal Mining amd lts Bf-
fects

{3 Gold Mining Activitiea in Asia

(4] Gold - The Most Expensive
Metal in the World

{5) Lure for Gold - The Stark He-
ality

1683. Which ol the folloaving is2are [l
ellects ol gold mining as rwn-
toned in the passage ?

A Waste generaterd while iminibng
for gold s harmful even in
small quuntities.

[B) Groundwaier gels polluted
due to Lthe release ol heavy
mclals generated from the
mining of gold.

IO ol et nod e Wies o mse
respiratory lllnrsses in pea
e

L) Only (A}

(21 All (AL 1B) and [C)

{3) Only (1) and [T)

4] Only (5)

(5) Only (A} and (B)

What is the aulhors inlention

behind writing this passage 7

(1§ Tu discourage the Indian gov-
ernnent from investing In
gold mining

{2} T bwing forward the problems
associaled with gold mining
for India's benefit

(3 To discourapge Indians rom
Luylng gold based on s oo
percussions

(41 To ardvocate the mport of gold
inatead al mining lor it

(51 To gond the indian govern:
imeenl indo bringing (he artiss-
nal workers under the pur-
vierwe of Lhe organtzed seclor

Which o the [sllowing s true

aboutl the people who carry ont

gold mining activilles?

N Thetr employment §s purely
lrga! In nature.

(8) They employ unsophisticated
rethods of mining,

{C) They do not have essentlal
amenities.

(1) Only (8]

(2] Only (A) and (B}

[3) Only (C)

i1) Only (B} and {C)

{5) All {A). (B) and [C) are trae

166. Whichi of the following is NOT

TRUE abioul the island of Bomeo

in Indonesia. as given in Uhe pas:

sage?

() Lavge pleces of land are Lie-
ing destroy'ed beciuse ol imin-
ing

(8] There s a large amount ol
mining activity being carricd
ol o Lhis island,

IC) ILwonld e known for its rich
hlodiversity in the fulure.

164.
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167,

{11 Only (A} and (B)

121 Dnly (B}

(31 Only (C)

14) Only (B} and (C)

(5 AdLIAL 18] and {C) are tro:
Why, wecording Lo Lhe autbar,
should India worry about goeld
enavinnd o) s etlecis ™

{1 A= locha s plannmeg (o e
croase s invesiment i gold
mining and Is lookine to in
crease activities in (his sec.
tor In the near hiture

As Indin has bheen exyensively
carmying ot golkl mining in
the st and jits environmen
tal record i ool encourading
Ax a large number of 1.H::ngilr
in Indin are employved in this
unorganized sector whach is
detrimental to the counlry s
ECANOMY

As India's terrain is geologi
cally unstable and is similar
w other lands in the world
where gokd mining is carried
ol

As India is committing the

same mislakes committerd by

other developed nations when
it comes Lo gokd mining

Why, according to the author. is

the environmental cosl al gold

very high ?

(1) As gold is the only melal which
generates harmbul wasie on
its excavation

(2] As excavation of gold releases

the highest amount of pollut

ants into the air as compareed

Lo any other melal

(3 As golil excavation is n very
tedious process and reqguires
usage of o number of environ
menially destructbve resoun:
es

(4] As the amount of gold recoy-
ered In proportion Lo the land
excnvaled is negligible

(5] As the transformation of raw
gold into a plece of jewellery
is very expensive and is envi
ronmentally harmiul

Directions (169-172) : Choose

2]

13

14

(5

169, FORGE
() creale (2} eone, it
13) fake i) Lud=ily
{51 vopy
170. DECIMATE
{1} destray {2) divide
L) auEmenl (4] varale
173 erqualipe:

171. FASHIONED AS
{1 dhertved into (2) marketed s
1) stvlizedd o= () macke Into
15} attracted W

172. FUEL
11} fire 1) hireass
{3 Ligh i1 energy
153 petrolewn

Mrections (173-175) : Choose
the ward /group of words which is
most opposite in meaning i thewond /
gronp of words printed in bold as used
in the passagc

173. MASSIVE
(1) meagre (2] tiny
(3] chum (4} inadequaltse
(5} ggantic
174. CEASED
(1) released (2] embarked
(3] started {4) ended
151 mensured
178. INEVITABLY
{1} unexpectedly
(2] silently
[3) unavoidably
(4} forcefully  15) inescapably
GENERAL AWARENESS

178. A consortium of commercial
hanks has joined hands o float &
new company which will collect
data relaled to frauds and secu
rity risks, Which of the following
is the name of the company 7
(1) Loss Data Consortlum
(2) Customer Service Corporation
I3 Bank nel India Ltd.

(4] Nu Tech Corporate Services
Lad.
(5] None of these

177. The Indian Government has in-
troduced a new Wholesale Price
Index (WP1) recently. The new
WPI is based on which of the fol-

the word/group of words which is
most similar in meaning Lo the word/
group ol words printed In bold as wused
in Uhe passnge.

lowing vears 7
(1) 2004-06  (2) 2005-06

(3) 2006-07  (4) 2008-09
5] None of these

II._T:Bf

178.

180.

181.

As per newspapes L ports L

Bank of Japsin, which is the Cen

iradl Bank of the countnn took

spccial measures, ekl me

Mt shx vears. 1o contaln Lhe rise

it the value of Yen, Why did Jas

pran had (o rake this speesal mea

sure which surpirisaed many coun

o T

LA dovpunn s Teacfal el o eis-
ingt currendcy wontld dhinage s
export-led recuvery pla,

B B owas one of The measares
taken by Japan 1o coane out
ol 1S ceonomic setsek i sl
lered In Lhe rerenl past

(€] Since the US Daollar has he
came ;i Weak Globul Cureen
ey, Japan wanls the Yen to
he recognized s Lhe global
currency in phce of the LS
dolla

(1 Onlv [A] (21 Onlv Bl

(3] Oy (0 [4) Only {A) & [B)

(3} Omby [13) & 1C)

As per the pewspaper sepocts Lthe

growth of Money supply [M3) has

been at a moderste level in July

2010 as compared Lo March

2010. Which of ibe Iollowing was/

were the elfect of This modera-

thon on Lhe banking business

A} Less people opted for Time
Deposils

(B People withdrew their invest -
ments in Mutual Funds

{C) Banking loans hecame maore
costly as hanks were foreed
10 inerease the Interest rates.

(1) Both (A) & {B)

2) Only (B)

{3) Only (C)

{4} Only (A

{51 AL A, (B), IC)

The Reserve Bank of Indin has

sel up a Working Group (0 re-

view current operating procedure

of monelary policy including

LAF, What is fullform ot 'LAF' 7

[ 1) Liquid Assetls & Funds

[2} Liabflities And Funds

(3} Liabilities Adjustment Finance

(4} Liquidity And Finance

(5} Liguidity Adjustment Facility

Which of the following organiza-

tions/agencies plays a major and

cruclal role Lo moderale & con-

trol inflation In a country ?

{A) Central Bank of the country
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1B82.

i Swek Markei= of the counury

10 Flaneing Commission of the
Coutey

11} Only (B) (2} Only (A

i Both IA) & (B)

4} Both (B) & (C) -

(5 All A (B) & (C)

Many Umes we read about "Bal-

ance of Payienl’ i econsimic -

eratare. Which of the lollowing

staterne ntis) deiine the term cor-

reclly .

[1) Only LAY

(2] Only (B)

(31 Al [A), 1) & (C)

(4) Both (A) & (8)

5] Only (C})

“Bosel Committee on Banking

Supervision” is also/or popularky
kniown as —

(1) Thomas Cook Commitice
12} Tubwar Committes
(3 Bank fer Intermatlonal Sele-

F 191.

{C) Few towne ks Barmies, Bhi
wandi sand Agra were dhix e ed
towns of Export Excellenca.

(1) Oniy (A

(2] Oy (13}

[0 Omly 1C)

14) Only (8 & (C)

15) Onlv 1A) & ()

The Direct Tax Code whilch was

revised recently will he imiple

mented from which of the follow-

ments Commities mg dales 7

(It s i recurd of all (randac- | qg) peter Cook Commitice (1) April 201
Wl pna wWetn e par- ¥
tieubar country and all sther 5 Benking Regulation Commit- {:H apRane
CounE: tee y (3] January 2011

I3 10 b a0 vecard of 81l ransac- 187, m]:rﬁ of the foliowing is/are the (1) January 2012
Lions ninde between the cout- objectives mﬁihn Public Distribu- (5] None of these
teivs wherein the payment “""“f'-""'“m ) 182. Sri Harishankar Brahma's niune
was made in a currency oth- A To puit an indirect check on was in news recently as he has
er than US Dollar, the open market prices of var- laken over as the —

(G It 15 & recond of all exports)/ g (1) New Chiel Justice of ndia
tmports from/hy 3 country B3 Providing food grains and oth- (2] New Chief Justice of Jhark-
and difference in amount of er esscntial ilems to Lhe vul- hand, High Court
both In terms of payment ln nerable section of the socicly, (3) Governor of Arunachal
US dollars. (€] Ta provide competilive price Peadesh

1)) Only (A) (2) Only 1C) of the groducts to farmers, (4) Election Commissioncs of In-

(3 Only (B8] (4) Both (A) & (B} (11 Only(a)  12) Only (B) dia

t51 Cnly 1B & (C) {3} Only (A) & [B} (5) None of these

183. As per the existing policy the {4) Only (B} & (C) 183, AS prc HEWSPAPCT Fepurts M-

Cash Reserve Ratlo (CRR) of (5 ALl [A), (B} & (C) vealin and Cantda Fave beoome

scheduled binks is fixed at 4 | 188, Which of the following missions new expuortens of pulses to ldia,

vertain percentage of their NDTL. 15 given the name "Opcration New Lipall pemw whine i of 1he tollowing

What is full form of NDTL ? Dawm 7 countrics was (he single biggest

|1} New Domand & Tenure Lias {1} War in irag . exporter of pulses w hnelbs 7
bilities . [2) Launch of Space Mission by (1] Myanunar  (2) Pakistan

12} Net Demard & Thme Laabili- India () Nepal (4] Bangledesh
g 13 Announcement of new rellel i5) Britain

4 Nahal De ot - Tl - package for furmers 184. Several countries in Europe

: quiddity (4} Wew rchabilitation operation abandoned their currencies and

cil Nel Daration & Total I.ﬂi] uidl- fipr Dhond vicilms {i Balistan Hdﬂp‘m 4 COMMUT currency in
4 i) None of these thie year 200 1. Thal cureency Is

@ New Deposits and Term L | 189 Which of the following countries known as —
quidity won maximum Gold Medals in the (1} Europa

184. Which of the bollowing countries recently conciuded Common: (2} Giliralter Pound

borrowed maximusm amount of weaith Games in New Delhi ? . Tl

loan fiom the Workd Bank in last (1) indta ) Australin (3) Do

fscal year ? () nd () (4} Pound Sterling

(1) Indis i2) Turkey 3) Engla Canata (5) Buru

{8} Mroal 11} Pakistan (3) None of thesa 195. Governmend may reduce its bud-

. 190. Which of the following Is/ure the tary deficit by various mea-

% Nongaliape highlights of the Foreign Trade Sures, Which of the fol

186. 1h Husernw Bank of Ivlia recent- Policy 2009-14, which was re- :;lm" Gy lh 3 n1|:;wing e
by decided 1o roview ils monelary viewed by the Government re- QT onwe suc ’“"‘"f'“““

policy more frequently. This mea- cently ? (1) Markel borrowing

sure of the RBI will be called RBI's (A Gavernment (0 Incmass ex- (2} Deficit linancing

ports uplo US § 200 billion (3) Foreign grants

W Monetary Measure this fiscal year. {41 ncreasing laxes

{13} Financial Morket Measure (B) List of items allowed for duty- 151 Redueing laxes and Increas-

) Regulitory Measure free imports reduced by 30%, ing =ubsicdies

MusTt Reap KIRAN'S RAILWAY CIVIL ENGINEERING PWB | 217




MODEL SOLVED PAPER : UNITED BANK OF INDIA PO EXAM

194,

Cormrarreud Papers are issued by
i1 acompany toa bank

(2 Banks to Companies

(4 Ranks Lo Banks

(41 Cumpany Lo s suppliers

{3} Kune ol (hese

197, Which of the lollowing organiza

138,

199,

201.

tions nudataloe oulfer stoek of
the o) prain in India ?

(1) Commission e Agricullural
Cosis and Prices

2} Ceniral Warchouslng Corpo-
raiodn

Y Food Corporation of India

4 Mandi Sanuti of cach State

(5 None of these

MAT provisiom in Income Tax

alandds (or —

(1) Medium Alternate Tax

2 Masumum Allernate Tax

3 Muimoam Altermalte Tax

14 Mild Alleroaie Tax

19) Nune of these

Mascirmr FD 1o Pt seclor Bank

ine Inelise s allowed up to —

{4} 265 142 ALty

(3 i (4) T4

(5) Neawe of these

Meany traes we read about SWIFT

i newspapera. What s its Dall

lpigm 7

10 Sovaned Wor k) wide Tnstitution
lor Transaclions

21 Sate Window in case of Finan
clal Transaction

(B Sockay for Warld wide Inter
hank Financlal Telecomsmiani-
falton

14) Satee Window lor Inter hank
Financial Transactions

5] Nene of these

As per lalesi data in wrban areas

wanen empioyment s highest In

which ol the lollewing industries

anrgEf

(1) Private houschokls

12) Texiiles

&3 Apmpare]

i4) Fduration

1 Retaill Teade

202, In the world of commodity ex-

changes - the concept of “A stan-
dard contruct to buy or sell a
apecified commodiiy nl a certain
diste in Totuee and at a market
driven pnce” — |s known as —

11} Friote Comviranct

[24| Forward contracl

3 Markel conlract

{41 Standand contract

i5) None ol these

Il market quoles USD/INR as
48.61/63. this mrans w¢ can
Ly LiSD at which of the lotinw
ing rates al the given quole ¥

i1l 48 61 2} 6348

3] G1.48 i4) 48.63

{0 Nome al luse

204. The loreign Lrade policy in India

208,

is announced by the —
1) Reserve Bank of Tndis
{2} Mindsury of Conwnerce
3 FEDAL

{4} Ministry of Finanee
(3) Nope of these

. Lending te Scli Help Groups

(SHG2) by Banks is Konovn a=—
1) Man priorily Seclor

2] Fiicrity sector

3 Commercial sector

14} Corporale Secior

15 None of these

Arcording Lo Minisiry of Consom-

or Adiairs, which une of the [ol

lowing products had contribuied

maximum to take the nllation at

highest level ?

(1) Vegetables (2} Jowar

(4} Atla 14} Coconut ol

(%) Milk

In which one of the following

States, ONGC has sed up 5 102

mw capacily wind power

prnpect ¥

{1) Gujarat

{2 Rajahan

(3 Wesi Bengal

(4] Orissa

(5) Andhra Pradesh

Through which one of the foliow-

ing scarcels), Indian companies

are allowed to access [unds from

abroad™

A} External Commercial Borrow-
ings [ECB) only

B Foreign Currency Convertibie
Bonds (FCCBs)/Forcign Cur-
rency Fxchangeable Bonds
only

[ Preierence Shares only.

(1] Only (Al

2} Only (B)

(3 AllL(A) (B) & (C]

(N Only (A) & {C)
(3] Dly [C)

208, The Nobel Prize 2010 for livera-

210.

211.

212,

215

1uire was givien 19 —

1) Mo Vergas Uosa

4 Allira Suzuki

3 Richmd F. Herk

4] Roten G Edwards

(5 None of Lhese

A which one ol the lollawing

Stales Ravva gas fields are local -

ed ¥

{1} Wes| Bengal

{7} Andbra Pradesh

(¥ Kemala

) Orizsn 15} Karmalaka

Who amongst the following is the

author of the hook "Building So-

cial Business”™, published recent-

b2

{1} Liu Xtaobo (20 Amartyn Sen

() Bertil Ohlin

(4) Manmaohan Singh

(5 Muharmanad Yoims

While tackling the problem of in-

Nation, which ane of the [ollow-

ing aspects is taken into consid-

=ralion by the RBIY

{1} Balance betweon budget det-
feit s priee stability

{2) Balance between growth and
{inancial stability

120 Balance belween price of all
vasential commoditics

[4) Balance hetween growlh,
e stability and [inancial
seahility

[F) Mone of Lhese

Wikch of the following is/are a/

an indicator of the fnancial

health of & country 7

A GO (Bl PPP

€} ¥DI in & year

i1} Only (A) (2} Only (B)
i3 Oy (C)

14} Al LA), (B} & (C)
(5] Mone of 1these

214. Stk Fxchanges play a role in

aft eoonomy which may be termed

28—

i1) handly usetul

i2) useful bul need stricl regula-
tion

(¥ harmiidl o proper capital mar-
kets

{4} a gambling -- where many In-
veswors gel ruined

(%) a very important segment Lo
regulate indlation
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215.

216.

217.

218.

218,

Which of the following isfare
called Key Policy rates by the
Reserve Bank of India ?

{A) Bank rale

iB) CRR

[CI SLR

(1) Only (A)

(21 Only (B}

i Ouly (8] & (C)

i4) Only 1Al & 1B)

ol All (AL [B) & 1C)

"World Post Office Dy’ is cele-
hrated on

{1} November 19

12} Oetober 10

(3} Nowember @

1] Oclober 9

i5) None of these

Mr. Li Muing- Buck who had come
io Indio on an official visit, 8 the
president of

{1) Souilth Korea

{2} China

13 Myanrmor

{4) Victnam

{5} None of these

Which of the following Lerins is
associaled with Hockey?

(1) Checkmate

(2] Ashies

(3 Double (aull

() Luv

M Centre forward

Which of Lhe following was
awnrded with Rajiv Gandhi Na-
tional Saihana award to spread
commumnal harmany and peace?
{1} Murall Manohar.Joshi

12) Anamdhatl Roy

13) Medha Patekar

4) Maulana Vihuddin Khan

%) None af thess

220. What is the name of programme

1.

launched by the governmeni of
India with & view o provide so-
elal security to the people work-
ing in unorganised sectors?

1] Rajlakshmi

(2] Kuteer.Jycil

3 Arunocday

(4) Svavalumban

{5 None of these

Which aof the fcllowing prizes/
awards/hanours is given lor ex-
cellence in [lims?

Must READ

1) mnlmwnrnﬂp Bhainagar | anis) | '!3‘._1 .1} “}{ | 44.43)
(2) Kedidas Award 45.04) | 46121 | 47.21| 4843

(3) Dronacharya Prize 404d) | B0.[5 ] Bl ]| 6342

(4 Arjuna Award | 5340 | OS43| B8J5) ) SELY

|51 Dadasanel Phalke Award B7.151 | B8.(41 | 39.11| ©0.2
222. The plmag; “ﬂ:tmtiﬂg of United | |" g1.5) | 02.3) | 6a491| a2
millenniium Dl:-uclumn::mhtl]rn:ll; o L MR T L L
wad recently held in 8812 | 705 711_.-15.'3! ?_E.IJII

(1) Tokyo [2) Jakaria 73.42) | 7adn| 7840|7645

[53) New York TTA | 7842 | TN | 80.44)
Ve e 81.(3] | 8231 | 83| 84.3)
229, m::q tn the Hﬁsmwr re- S n R T e O
poris, India's neighbour Ching | | 8201 | 9043 | S0 { B2

has helped i Inatalling a ﬂS.J:EI ‘Bam | 85iH]| 9804
nuciear power plant. a7.12) | 98.(5] | 981} | 100.44)
Ew (2} Bhutan 101.(5) [102.(3) | 1085 | 1042

) Afuhanisian | 103.41] | 106.45) | 107.011 1?:._1@

(%) Myarmar 109,03} 1100u1) § T1L4) | 32245
224, AFSPA was recently in news. 1 | | 12305 |114.03) | 11504 | J‘.‘E‘.“.‘.“
stands for 117.(1) |118.43) | 11944} | 120.05)

(1} Armed Forees Super Powers | | 121,12) 122.4) | 123.12) | 124.09)
s 125.1) [126.0) | v27.0 | 12005
ey ciatSuper | 129 o T130.9 | 1avn | soai

{3 Armed Forces Special Powers 133.14) |134.44) | 3G | 13640

Act 137.01) 1138.03 | 130.05) ¢ 14004
{4) Amsociation of Forces & Su 141.(3) [142.03) | 14305 | 14403 J
oot vt 145,020 |16 | 147001 | 24500
228, Which of the fallowing did oy | | 1951 18610 | 151 | Vi
participate in the Comonwealth | 153.44) |194.010 | 15504 | 156.49]
Games recenily held in Delhl 7 15‘4"'.[4}_ I.EE.EEL _l"ifl'!_"u _l_ﬁilil.!{-!_

{11 Saina Nehwal 16L.45) |162.05) | 163.12) | 184.00

(2] Dola Banerjee [165.44) [166.01) | 167.(7) | 168.02)

(% Gagon g o0 [x7o.n [ dii.ch | 17

A ! KA *

(5} Sharat Kamal 173.0) |174.3; | 175.0) | 17641

| 177.(1) [178.14) | 17B.{1) | 18065 |

== ANSWERS = _13_12&1 182.(1) | 183471 [ 154.41)
185.(3) |186.(3) | 1A7.2) | 188.(51

vn| 2| s <@ || Fgois [ien | g | 1oz
S es] 7 8IS Tieal) [194.51 | 195451 | 19640
s | 100 wal| 120 o7 [1ea | 1902 | 2000
13.2 | | 186|500 Teoz.00 | 20000 m'{ n
17.(5) | A8.4] 19.00] 20.9 1| Faon |208.1) | 207.62) | 20619
2114} ) 2200 | 231 2404 | |} 209.1) E__ihn,_t:i]_ :2'1‘1-45-' E‘.I_:!T?'I"
as.21 | 2641 27.0] 28111 |]233.44) |214.02) | 21505 | 216.04)
| 28.5) | 30| 91431 32U | | f2x7.qn [218.45 | 210041 | 22005
| #3.01| 34.001| 3841 360 | | [220q5) |222.01) | 22300 | 22840

37.(2) | 38.1)| 8811| 40.4) ]| |225./5) T
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